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PROVISIONAL ANSWER KEY

Paper: 086 - First Aid Personal Hygiene and General Sanitation
Date of Test 19-11-2024
Questionl:-Full form of BLS
BLS-m60 36 @alo
A:-Basic Life Support
eenIles ©6alInd MVeds
B:-Breathing for Life Support
@floniles’ 6andd ©Llad MUGaAdS
C:-Basic Lifeline System
eenIles 6621068 milaye
D:-Bimanuel Living System
©66na0emaI@d eflafleuy milaye
Correct Answer:- Option-A
Question2:-In CPR Carotid Pulse is checked
CPR-@ #¢eogl0w) alidmy’ aidleveowlanam
A:-In the axillary groove
Sedlo ewoalod
B:-Groove between trachea and muscle of neck
(RIMUMOBEBIMBo HEOTIO! CaltBlaudesdswlgiss ewoal
C:-Inside of the upper mid arm
geglenl oWy 66OBYeS O8sIed
D:-Over the mid inguinal region
owy mninmad caseilcd
Correct Answer:- Option-B
Question3:-In CPR, chest compression depth in adult is
CPR-@3, g@l@amaidlad emermal doljotd &) @oeny
A:-2 cm
2 eu.dl
B:-3 cm
3 emu.dl
C:-4cm
4 eau.dl
D:-5 cm
5 emv.dl
Correct Answer:- Option-D
Question4:-Why end of each compression it is said to make sure about the chest to recoil (re expand).
A)IDE@:IENOITY BIGOO dholelHBOOQ @RAITVLIMe HMEA alEIMIT ErVGMMEDMY POIEBEMEAM al0WeaigM® (allsngs alle:milnese,)
A:-To prevent fracture of breast bone
aym @prmudl aslal @swom
B:-To recognize the victim regain consciousness
DEOX MIElyclwom esnow. alleergans
C:-To recognize the victim is taking breath
DEOD @@loGl@IMB LIV af)FEBEQEM
D:-Giving time to refill the blood to heart
A0BYOVIT B OIS MAWe M@IB:M
Correct Answer:- Option-D
Question5:-The percentage of Oxygen in the exhaled air of a rescuer is
GO EAUMMEO oJOMSEM Qe BOEIRMEOO EROMe @RI,
A:-21%
21%
B:-15%
15%
C:-17%
17%
D:-12%
12%
Correct Answer:- Option-C
Question6:-Logroll Manoeure is used to move the patient
1. Without flexing fractured limb
2. Without flexing the neck
3. Without flexion of spinal cord

c0oUflo® aiellafleromd ee0uiEndud Bomyd Palewoullenmo
1. 85160 66@@:08)8:03 UBWIO®
2. &P ASWIO®
3. myayo Mol AIBLoS®
A:-Only 1
1 0o@o
B:-Only 2&3
2,3 20@o
C:-Only 3
3 20@o
D:-Only 1&3
1, 3 20@o
Correct Answer:- Option-B
Question7:-In children chest compression to breath ratio in condition of 2 rescuer 1 available is
Bl OMmemL drolaouad 2 aonxémtﬁ 1 agom @eAIMAWIEE WBITVM @RI QIRKAET
A:-30:2
30:2
B:-15:2
15:2
C:-15:1
15:1
D:-30:1
30:1
Correct Answer:- Option-B
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Question8:-Universal Chest compression rate is
QEMICUL B2y BrolaJoUd mlEds)
A:-50-100/min
50-100/alrlg
B:-100-120/min
100-120/dlladlg
C:-120-150/min
120-150/dflasflg
D:-80-100/min
80-100/alaslg’
Correct Answer:- Option-B
Question9:-When food or another object gets stuck in the airway or throat it will stops air from getting in to the lungs is known as
EAUEMEN0 A QAUTREHESO QIMIMISOTIGEI HDITRDICAI H:FEBEIIT @RD LRIIMVIEHIWROTIEEIES) QIR GSTBAN SV GRAITLO ERAIROAFIMT
A:-Aspiration
@pElRDaHe
B:-Chocking
G2l oY
C:-Throattling
OIS
D:-Strangulation
BEOD OFOE 2] OB08JT3
Correct Answer:- Option-B
Question10:-Which is true about chocking?
a. Stop the victim from Coughing
b. Interfere with the victim's own attempt to expel the foreign body
c. Sudden forceful abdominal thrust in severe block due to chocking
d. Cough generated by the victim has more force than that by any manoeure

€2 lUTMO0 B0KTI@ a6 (oa1?
3. WEEW 4@ Ml OsQE
b. alleswe wEIR: nJoMmEBIMEE DEQWSS MVIM. AT DSOIFEH
C. (RIIMVQSM BIBEMo BCIMBIW GERIEITB HaOFMOSS VSMPIW AUVQEAUBM
d. DEQEERIEIMN 4Y2Q aBOMITE MEDOIM. OSBONEMEIUB LSO VoBDIQETE
A:-Only ¢
adl 20@o
B:-Only d
Wl 20@o
C:-both a&b
ag), snil eNZo
D:-both c&d
adl, awl eengo
Correct Answer:- Option-D
Question11:-Methylene blue reduction test is used to confirm the bacterial contamination of
el aelmleesme. muddledenin eacpialad o Slowesim esqy Palcouilenamo
A:-Fish
OOV
B:-Milk
aldo@d
C:-Meat
@J0(Mo
D:-Egg
LE]
Correct Answer:- Option-B
Question12:-Intermediate host of the tapeworm Diphyllobothrium Latum
WleeaneaIeEmISIo 23Q0 agaM 6Saf allees eamdoddlulog eanoqy
A:-Fish
OOV
B:-Pig
alom]
C:-Cow
ale
D:-Cat
adal
Correct Answer:- Option-A
Question13:-True statement about food poisoning
i. Botulism is a disease caused by toxin produced by fungi.
ii. Aflatoxin are toxins produced by bacteria
iii. Staphylococcal food poisoning is caused by bacteria

Eo)0llaHMOWOWERCl 488 IN0BMO @JTRoaIm
i. @l eoiandlflesm alaiimyenud grigerRISmMm B cEINEENY esniogallms
ii. enugldw poadafesm alaamyegosm @ragoesogl
iii. enogldle geInoey [RIeeaNERINEBIEBD BUNTAUMNIOW DEMROG:INDY
A:-All are true
ag)gjoo WEI@IET
B:-Only i
i 20@o
C:-only i &ii
i, il @0@o
D:-only iii
ili @0@o
Correct Answer:- Option-D
Question14:-Which of the following is not a food borne infection?
i. Hep.A
ii. Hep. B
iii. Hep. C
iv. Hep. E

®269a|0QINAIRIGE BT RSUEMY @EMBENIOWWES?
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i. &a0al. ag)
ii. ®anal. enil
iii. ®aoal. mJl
iV. ®a0al. @

A-ii &

B:-ii & iii
C:-ii & iv
ii, iv
D:-i & iii
i, iii
Correct Answer:- Option-B
Question15:-Which of the following disease is bacterial in origin?
@069 ]0QIMNAIVIEE aB®Y 6EUIMENT VGBI Geigenzoe:ma?
A:-Amoebiasis
@ndlsni@omdlamy’
B:-Asceriasis
@pemydlomilmy
C:-Asbestosis
@RIREgImMilmy
D:-Shigellosis
adlomnegpmilmy
Correct Answer:- Option-D
Question16:-i. Neurolathyrism is caused by BOAA
ii. Full form of BOAA is Beta Oxalyl Amino Alanine
iii. BOAA is found in the seeds of pulse Khesaridhal

i. BOAA gemosy M4EOLNESMAIMe PENROBM@
ii. BOAA @es ojde @alo enigo sogeeaicd @palemo @paieemd @reny
iii. a0y eaurudizoalidec algwegicd BOAA @osmeqjgam
A:-Only i & ii true
i, il 20@o0 vo@
B:-Only iii is true
iii @0@ao6em K@
C:-Only i is true
i 20@ao6m’ o
D:-All are true
ag)gfoe WEI@OE
Correct Answer:- Option-D
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Question17:-Contamination of mustard oil with Argemone oil which contains toxic alkaloid Sanguinarine causes
Qllaioo0eges ER@BENERINW MVIUIMIeenm ErsERIL ERAEaM BoleMI] ®gaen aalmasesmay

A:-Ergotism
ag)BewnasImoe
B:-Aflatoxicosis
@RagoesIgIeTLIMIMY
C:-Epidemic dropsy
agafleocnadlss’ eauogd
D:-Neurolathyrism
mécooels)s)@o’lm)o
Correct Answer:- Option-C
Question18:-Food Additives are classified into following except
couy @MIdaB0 8¥led oMlnjoQmaId) ®e.aildlaldlesme
A:-Flavouring agents
GagQBlouY aggmBamy
B:-Sweeteners
DUWEAIRINNIPEBRUY
C:-Preservatives
@frudeadlaed
D:-Nutrients
G loaHB 6303
Correct Answer:- Option-D
Question19:-Prevention of Food Adulteration Act is enacted by Indian Parliament is
MM l0BRIODMBOET @am,xmﬂgmg’kd 20@o GalBEH® MW@ Mlwae Msqfenalo
A:-1999
1999
B:-1980
1980
C:-1954
1954
D:-1984
1984
Correct Answer:- Option-C
Question20:-Which of the following is not a food fortification?
®269a]0QIMAIRIEE BN 8@ aga’ Ganddgladlesnaum @ogom?
A:-Fluridation of water
2LBEIOBIMOO aQEOOCUHM
B:-lodization of salt
2aflBe0 @PEWINOWETVAUD
C:-Adding Vit A & D to food
@HUMODI@ allgodlad ag@e e aldesamo
D:-Pasteurization of milk
a10elB60 aldMIalOe0ETVAHM
Correct Answer:- Option-D

Question21:-Which Vitamin is supplemented through immunization programme 6 monthly for our preschool children in Kerala?
CHEBODIORI MEYSS @In@uﬁ B BURE 200 6 2OTVETELIBETD @EDERIW BOTIUDq] al@lansldliges og@ allgodimosm’ M@BM@?

A-Vit. A
allgoailad ag)
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B:-Vit. B
allgoailad enfl
C:-Vit. C
allgoaiad @l
D:-Vit. D
allgodilad auwl
Correct Answer:- Option-A
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Question22:-The study of human behaviour of how people behave and why they behave in just the way they do is known as
OSB3 f)EBBOM OalGRIYID afTDOSIENTEET EPAIM H2IYM BOIVIGE HaIGRIYIND afINTOMERC 4SS AMPHBOO EalBRQETIOMERC 4SS aloMo a0 @ROIE|gME.

A:-Sociology
MUOGanYUBOTYo
B:-Psychology
mm:uooﬂgn
C:-Personality
QBN
D:-Pathology
alemogedl
Correct Answer:- Option-A
Question23:-The medical termination of Pregnancy Act enacted on
nBRWIEEM MaEBIMe0 eale@ esddlemaum mlwa. mlanlsd ame
A:-1948
1948
B:-1960
1960
C:-1971
1971
D:-1981
1981
Correct Answer:- Option-C
Question24:-Which of the following is not a ground water source?
©969OQRMAIRIB GUAEREI EAVIGTNRPTTT ag@o6m?
A:-Shallow well
@RYPo HOBOD MA@
B:-Deep well
@REOTIRISS Blemad
C:-Springs
@P@Qleud
D:-Lakes
®SOEH6BRUB
Correct Answer:- Option-D
Question25:-Sanitary well should be located at what distance from likely source of contamination
aamlgd] &lemad eelaileeemamsiay muowimes poallsosicd Ml af@ @rseiTwlanalElensms
A:-10 m
10 a0
B:-15m
15 d
C:-20 m
20 o
D:-25 m
25 d
Correct Answer:- Option-B
Question26:-Prevention and control of water pollution Act is passed in the Indian Parliament on
mepelmle:eem. ms@mM@Im. Mlealesmaingss Mloa. B alodeIenmAlmd aldavods
A:-1964

Correct Answer:- Option-B
Question27:-Disinfection action of Chlorine is mainly due to
60018 @REMAIYEMAILTD (IABTMAIET @WIMAIQo E0@EMo

A:-Hydrochloric acid
£6a0EWIEHICIE @MY

B:-hypochlorous acid
66a0EGICEHIOMY @RIl

C:-hypochlorite ion
£6a0E0EHIOE0F GOEWIEND

D:-chlorine
egyoclad

Correct Answer:- Option-B

Question28:-The difference between the amount of chlorine added to the water and the amount of residual chlorine remaining at the end of specific

period of contact is known as

6Ig8OT@d 6alBEBmM eHICIND @RS MMIBEOTMBOO (JE®IE GORIEAlBOO @RAITIMEBIME GURAIERMM EHIGCIND @RS @ARlRIES AMPMo ERAIWEAFIMT

A:-Chlorine demand
60008 @RQILBLH
B:-Free Chlorine
MUDEMY EHIGID
C:-Break point chlorine
GENES Galo@IBA GgHold
D:-None of the above
QBHEIW AlOFTDAUOWIMRREY
Correct Answer:- Option-A
Question29:-Free and combined chlorine in the water is determined by which of the following test
6QIssOTileal e4I0IB @RRPEHDRIW MeIH®A) MU Mo @@ aldlereowmalgeswosm mldepalesma
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A:-Defluoridation test
Wagee0euwaHm al@leuwawm
B:-Methylene blue test
enoolellm 6 al@lewoowm
C:-Orthotolidine test
830@eomoesoglausnd aldleuowm
D:-Coliform count test
CB088En000 HDEME al@IGURIWM
Correct Answer:- Option-C
Question30:-Chemical formula of bleaching powder
Qlaflety arpawclBe0 O&:alEed@ Ganddgel
A:-"Caocl_(2)°
“Caocl_(2)
B:-"Cacl_(2)"
“Cacl_(2)
C:-"HOCL®
"HOCL®
D:-"CaHcl_(2)"
“CaHcl_(2)"
Correct Answer:- Option-A
Question31:-i. Soap destroying power of water is defined as hardness
ii. 4 dissolved compounds are the main cause of hardness Cal.bicarbonate, Mag.bicarbonate, Calcium Sulphate and Mag. Sulphate
iii. Hardness in water is expressed in terms of milliequivalents per litre (meq1l)
iv. Drinking water should be moderately hard

i, 6moe] mewom MUWlafesan wenlew @odlme agmy mldalalsldlesm
ii. 4 fleMmEAIO® TV 1 $00IMOTIBOHO @WIM $IBEMe IV HOMIGBIBNIGM, HAUTlaY HOMIBGIBENIEME, HOITMVY MUUdeang, eauTlnue Muudeang @RENY
iii. eupgooieal 00l aw algdlay (MeqlL) deleluemeegss @rslruoomoDie sk eame
iV. @seaes. doniw @esald e:dlmawiclensms
A:-Only ii is true
ii @0@aosm ved
B:-Both ii & iii are true

C:-Only i, ii & iii are true
i, ii, iii @o@aoem vo@l
D:-All are true
ag)gfoo WEI@IET
Correct Answer:- Option-D
Question32:-How many percentage of the swimming pool water should be replaced everyday as part of sanitation measures?
@ a1 Msals) B @020 Floo@d ! 6USSOTIMO0 af@ O2IM. Glaimugie @og] mcgsmo?
A:-5%
5%
B:-15%
15%
C:-35%
35%
D:-25%
25%
Correct Answer:- Option-B
Question33:-Softening of drinking water is recommended when the hardness exceeds
#00Imye SalQemud @sloaigs. A SEMIMD Wald@w H.2IQTo
A:-6 meq/L
6 meq/L
B:-1 meq/L
1 meq/L
C:-3 meq/L
3 megq/L
D:-2 meq/L
2 meg/L
Correct Answer:- Option-C
Question34:-According to McArdle upper limit of predicted 4 hr sweat rate value for a healthy young man due to exposure to beat
285@RAWIM @MMGEl]; g afEEaloaHd &M. @RERIVIASE B QAT alaleeals 4 amilgd alwda] Mles gaioldeo eAdM adlul

A1
1

B:-2
2

C:-3
3

D:-5
5

Correct Answer:- Option-C
Question35:-The comfortable zone of effective temperature under which a person can maintain normal balance between production and loss of heat
at normal body temperature and without sweating is
8@ QUBTIlE TVOWIEEM WAEIE MIaIMleIRla AVAEIOTVY OTABMABIM. IAIMYOTM. ST MOWIEEM IRIMBMY MlaIMIAEMIM G anRlE)EAI MIaIMlaIges
MY6UJERAIW GaGIal
A:-20-25°C
20-25°C
B:-25-27°C
25-27°C
C:-27-28°C
27-28°C
D:-28-30°C
28-30°C
Correct Answer:- Option-B
Question36:-Which metallic aprons should be worn by all workers regularly associated with Xray procedures?
&0 MSalsl@neneEa0e] Muhleadd mmMwens g emodangleg. «g® engoels; @reaoem WAlewsMo?
A:-Lead
EDDWo
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B:-Copper
&).altml
C:-Aluminium
@peyallnilwo
D:-Steel
OB
Correct Answer:- Option-A
Question37:-1 Atmospheric pressure equals
1 @rm@lssadge ) @aymoem’
A:-750 mm of Hg
750 mm Hg
B:-755 mm of Hg
755 mm Hg
C:-760 mm Hg
760 mm Hg
D:-765 mm of Hg
765 mm Hg

Correct Answer:- Option-C

Question38:-i. Barrometer used to measure atmospheric pressure.

http://192.168.1.6/dept/modules/marklist/answe...

ii. The atmospheric pressure decreases at the rate of 1 atmospheric for each 33 feet depth below sea level.

ili. Man can survive at an altitude of 25,000 feet without breathing equipment.
iv. At higher altitudes partial pressure of oxygen increases

i, ERMEleUadG EREEIM DalcIUIlERmM 6n106@A193

ii.  augElea]m moeewes 8oeeo 33 @os flafe 1 @pandl HOQM
iii. 25,000 @os] pwoowicd winileomss DaldeememBglane® amaym @oolslalenm edlge
iV. pwdm sweomod soglmmen coulle: adge adaUlasm
A:-Only i is true
i 20@ao6m @l
B:-Only i & iii are true
i, il 2o@aosm wod
C:-Only i, ii & iii are true
i, ii, iii agorlar 20@ea Rl
D:-All are true
ag)gfoe WEI@oE
Correct Answer:- Option-A
Question39:-Caisson disease is a disease of
OBHQTVEM CEIW BT €I
A:-High altitude
@RWlB Oal®a0g0
B:-Low altitude
E:O61010) s)nj(mmogo
C:-Air pollution
o eeflaile:eemo
D:-Milk poisoning
alo@d Qflayeniow
Correct Answer:- Option-B
Question40:-i. In modern sewage treatment primary treatment includes screening. Grite chamber and primary sedimentation.

ii. In primary sedimentation due organic matter which settles down is called scum

iii. In primary sedimentation certain amount of fat and grease rise to the surface is known as sludge.
iv. Secondary treatment includes trickling filter method and Activated sludge process.

i,  @Epwmlse oelmse MOePEEMAEI@3 (@Joald; alleleruale qilailewy 9uegMe. HOWF EalMiQe (@OLNAIE: GRAIBlaYo.

ii.  @ownale @RAIUSlYOTI@ @oSleTREFM ©OBAIITYHOS (Mo agan’ allglesme.
ili. @ownale @RAUSloYOTH@3, ©&08alo Mo paIdl@eITricals Q@M @ROIOgMe es].
iv. clolw alsloruoicd Sleglloty adlsd ol mueflavossle myusl Gl pudeqgMe.

A:-Both ii & iii are true
B:-Both i & iv are true
i, IV e6nge vo@loeny
C:-i, ii and iii are true
i, i, iii agavlar ve@losmy’
D:-All are true
ag)gfoe W@I@oEM
Correct Answer:- Option-B

Question41:-Which of the following is not caused by mosquito?

©@06PJOQINAURIGB BT HBHODE FRIPEROGMNDE?

A:-Malaria
[E=Tell)

B:-Filaria
£6anceIClR

C:-Scrub Typhus
ayent &esanmy’

D:-West Nile fever
£QITY ©OM@ alai]

Correct Answer:- Option-C
Question42:-Sandfly is a causative agent for
LIMBWEOaY BT @EINBIAIWIEM

A:-Scrub Typhus
ayent &eSanmy’

B:-West Nile Fever
£QITY ©OM@ alail

C:-Kala azar
0810 @MVA

D:-Chagas disease
2lNIMY GEIWe

Correct Answer:- Option-C
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Question43:-Which of the following disease is caused by Culex mosquito?
@IOPOQMAIDI@ BT EEOVRETY (ﬂ,‘éelﬁ“ £HHIDE DRI 7
A:-Malaria
[E=Tell)
B:-Filariasis
ooanailoomilmy’
C:-Yellow fever
2610l
D:-Chicken guinea
aflend Gl
Correct Answer:- Option-B
Question44:-i. Scabies is caused by itch mite
ii. In scabies the patient complaints of itching which is worse in the morning
ili. Scabies causing mite is visible through microscope only
iv. Animal scabies & human scabies causing agents are same

i.  ©a00la]lo3 geIMdET 4emeas PERIGBMNE
ii. aemeEdl®, .20 cEIUQes aleIde:wd eaalel caoweaIe™’
iii. aemeER penEoEBMM 621001 HENCEBTYIA]a)eS BO@ED GuooE
iV. 21 0a100lQ0 amay 62106100 BBEAIRIET
A:-Only ii is true
il @0@mosm’ Go@
B:-Only i & iii are true
i, il 2o@aosm wod
C:-Only i, iii and iv are true
i, iii, iV agarlar ao@aoem’ vedl
D:-All are true
ag)gfoe WEI@oEM
Correct Answer:- Option-A
Question45:-Which of the following is not a Zoonoses?
DTloj0QINAIRIEE a@@mIET TYENITVLMY @REPODT®?
A:-Dengue fever
WM
B:-Rabies
ooenilany’
C:-Anthrax
RO
D:-Leptospirosis
agellaym
Correct Answer:- Option-A
Question46:-Process of mixing waste with cement and other substances before disposal inorder to minimise the risk of toxic substances contained in
the waste, from migrating into the surface water is called
Daldlmel BeIovilealss G:SIeQMOY @@ aoelmyomniod lel@lenmm alla alE0BMOMBESS @RAIBSTIOWY HORMGIM dldne eagmMalmyml acelmy miamg. ag’ aryengaoe]
HLIBEOM @GO _ agmy alglesme.
A:-Inertization
Tlel@io
B:-Disinfection
@PemAlgemacend
C:-Encapsulation
n@aﬁapadcammﬁ
D:-Safe Burying
MYEEU®R0Q @RSE
Correct Answer:- Option-A
Question47:-Which of the following is not a occupational disease?
Moo ag@IeNT 8@ E@OFBAIEAW cEINAG)?
A:-Anthracosis
@R®IEEHINIIMY
B:-Silicosis
avleflespomilony’
C:-Baggasosis
sniomoeavomilamy
D:-Leptospirosis
agellayml
Correct Answer:- Option-D
Question48:-Health problems which results from a disaster situation includes
B GEADTVIDARKITIE MM ERYEEINYWRERUS OUBOM
A:-Emotional stress
£6QB0CH MVINAGe
B:-Epidemic of diseases
CRINEIREOS ald@a)ugoull
C:-Increase in indigenous diseases
MISM eeoVEBges adgmal
D:-All of the above
ABHEI OO0
Correct Answer:- Option-D
Question49:-Industrial workers may be exposed to the types of hazards depending upon the occupation except
09I s¥loayss emodielom @rWalal aaIMIVlE: 6®OFRINEE:U8 @RAlE:STLOWIMUBES AW EICWEI.
A:-Psychosocial hazards
20l Mogadle: @oaldSeERU3
B:-Mechanical hazards
ODEOMIEOT @IBSEBRUB
C:-Biological hazards
OBV @RAIBSEBRUY
D:-Flood hazards
£QISBO I @RAIBHSERUY
Correct Answer:- Option-D
Question50:-Asphyxiating gases
(RIOTVo PSIBROM QIBEBBUZ
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A:-Carbon monoxide
B0B6nIB EGROEIMIOOEY
B:-Sulphur dioxide
aUUBa0A WEWIEHEW
C:-Chlorine
egyoclad
D:-All of the above
ABHEI OOV
Correct Answer:- Option-D
Question51:-Disease causing physical agents like pressure are all except
LB GalorBs BIRIClE: *RISEEERU BFlEGQBBAOWEe CEINTTIM BIGEMAIBTO
A:-Air embolism
)@@ af)oesnogiae

B:-Blast
cﬂgasme

C:-(1) & (2)
(1), (2)

D:-Burns
£alo88

Correct Answer:- Option-C
Question52:-Iron (Fe) causes
eommi (Fe) eorememud
A:-Anthracosis
@RDIEEHIMIN
B:-Silicosis
adleflespomilary’
C:-Asbestosis
@Rmyegamilmy’
D:-Siderosis
©OILAWEOIMIImY
Correct Answer:- Option-D
Question53:-Lead poisoning may occurs due to all except
86108 af)g0 HIEMEBBBIRJ HAIY QflaUsNIOW DEMRIGIe
A:-Inhalation
DMBaNIGRIAHUM
B:-Ingestion
S DG
C:-Skin Penetration
Y BaleMESm
D:-Radiation
coleaHm
Correct Answer:- Option-D
Question54:-Bleeding disorder is
apflalou’’ aulleruodanad @ryeny
A:-Sickle cell anemia
alesld ©nued @zl
B:-Haemophilia
adleadadlele
C:-Thalassemia
oaimilole
D:-Cystic Fibrosis
lqyley @eansEnjomilmy’
Correct Answer:- Option-B
Question55:-Types of radiation
COWIEWAHMOO ®EEERU
A:-Gamma rays
(N0@O BH1EEMEBRUY
B:-X rays
ag)y Sleemeanud
C:-Cosmic rays
6Bl srleemeanud
D:-All the above
L= (RN I JET
Correct Answer:- Option-D
Question56:-Removal of temporary hardness is by all except
©@o@@0alle: @oClme Mo 62QYMOY BEMIFOHQESS afgide EREM
A:-Permuttit method
6aidgsly Ao
B:-Addition of lime
668l @Slealden®d
C:-Addition of sodium carbonate
GO B0BENIGIM @5lealden@d
D:-Addition of hydrogen peroxide
£6a0BM 6aIC006OGW @glealdencd
Correct Answer:- Option-D
Question57:-In India Flourin concentration is considered as optimum in drinking water
DM@ EaQoclm@ MIB® HSlIOAUSSOTITE aGQQle 8l 9] HEMEILBOIFM
A:-0.1 - 0.4 ppm

0.1-0.4 ppm

B:-1-1.2 ppm
1-1.2 ppm

C:-0.5 - 08 ppm
0.5 - 08 ppm

D:-1.2 - 1.6 ppm
1.2 -1.6 ppm

Correct Answer:- Option-C
Question58:-Normal conversation produces a noise of
MUIWIEM (MVoEIAHEMe UOGT)ZIQGTBO‘@G’TD.
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A:-80-85 dB
80-85 dB
B:-75-80 dB
75-80 dB
C:-60-65 dB
60-65 dB
D:-50-55 dB
50-55 dB
Correct Answer:- Option-C
Question59:-i. The combination of smoke and fog is called smog
ii. Itis only the first 30km that bold the major portion of the atmospheric gases
iii. Normal composition of external air by volume is "N_(2)" -78% "0_(2)" -21% "Co_(2)" -0.03%
iv. Kata thermometre is used to measure humidity

i oJeQesQe gsmamilBen MeEIBMEOM ETROUY aga alglesmo
ii. apewon 30 #leandgd 20@aY EPIDEGY AESERES ARTEWIB EIW. GENIUBLY O.aIQMTDY
iii. eanglwe @RMMLElS] fnvaoy agalmeo muowoesm caism N_(2)" -78% “0O_(2)" -21% “Co_(2)" -0.03%
iIV. 8000 6®@e202lgd ©DBaj @RBEHOM Dalcouilenmm
A:-All are true
ag)gfoe W@I@oEM

B:-i, ii & iii are true
i, i, iii agarlar ve@losmy’
C:-i, iii and iv are true

i, iii, iV agarlal vocloosmy’
D:-only i & iii are true
i, i agomlcar e@losm’
Correct Answer:- Option-B
Question60:-Typhoid fever is the result of systemic infection mainly by S.Typhi which of the following is true
(@WIMDIY oIV, 06Sadl AIFIYSS AAIMINIAIEAIY @RENENIWQESS ANRIAIEN OEOSEANIVIW alt], BMlajoQMAIWITd gmos wdl?
A:-Rat is the only known reservior of infection
@REMENIDWQRSS BRIOIFM BEEEOWIT MMM agalwosmy
B:-Widal test is the only test available to diagnose the disease
£OQIWD HSTY @RENY EGEIWo BENFallSIEIM QIBYOW aBs OSTY
C:-Typhoid fever is transmitted via blood of the infected person
65600 all sn10Wla] AUBTIQeS EHMe QUSIWIET ald:BMY
D:-Enteric fever includes both typhoid & paratyphoid fever
ag)B0dles adlIGl® ©6SEA0IDW, ald@IGIEnn0w adlid eudeajgmoe
Correct Answer:- Option-D
Question61:-Neurotoxic envenomation is caused by which of the following?
mlojomaeied agmosny mécoacsogﬂa; A)BOAUCMICRUM DENRIBIN@?
A:-Cobra
BHHOENY
B:-Krait
0BWY
C:-Viper
©60Iajd
D:-both (1) & (2)
(1), (2) eengo
Correct Answer:- Option-D
Question62:-Hydrophobia is an acute highly fatal viral disease of central nervous system. Which of the following are true?
£6aNEAEA00NIW EBM mamilménommﬂnﬁeo DBl 29eEHA0W EOAOTS 6NN, EMlaloQIMNAIVIE BT (oEI?
A:-Caused by Lyssa virus type 1
aflrv eesa] 1 gemosm’
B:-Also known as Tetanus
£SQMMY af)(Mo @RCIWEAIgM
C:-Immunization have no role
@OlEEIW EOTIAa]aY 8@ assalgy
D:-Drugs are available to prevent the disease
GO MSWINB AWMU 2IRYMOET
Correct Answer:- Option-A
Question63:-Which of the following is true regarding leprosy?
B0YGEINQYBID] IMOAIS Ml oQMARI aG@oam’ ©a@l?
A:-caused by Mycobacteriam tuberculosis
660ESENIIFCIWe SKENIBEEaINITY gaimosny
B:-Involves lungs
UBIOMUGHIUBe QU%E)rH%ﬂTD
C:-CBNAAT is the diagnostic test
CBNAAT cwweunoqylss esqyoeny
D:-Involves skin & nerves
2IBER0Ye FOOMYG DUBEYSMO
Correct Answer:- Option-D
Question64:-Which of the following is not correct when considering the first aid in Snake bite?
almf &SIEWGIMW INBLEYH alElNEMIEREMINUE MlooQMAIDIE a@@I6T wdlwgy?
A:-Immobilize the affected limb
nIOWlg] @A MIURIWAIERE
B:-Keep the limb below the level of heart
06BHBR)BHUY nOBROTIMBO0 MlalnneEmlm Moeewow] myeuless
C:-Donot allow him to fall asleep
@AM HOERIMS @GO
D:-Block the blood supply by tight ligatures
QB ellenaQeud Ayl eem almesm. msQe:
Correct Answer:- Option-D
Question65:-All are disease transmitted from person to person except
86168 af)gioe QBRI Ml 2eQIEISIAILS ald:@M EEINEBREIEY
A:-Scabies
621001
B:-Dysentery
QJI8Ho
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C:-Varicella
adlemugy
D:-Psoriasis
earuoclomilony
Correct Answer:- Option-D
Question66:-Category of bite by a rabid animal causing minor scratches or abrasion without bleeding comes under
©a0lQ Gal00R)EUd EREQEITE EBMEYI ©SIO® DO 4B U8 HEMRIRMM BIMM Guo &Slywlden aleonasia) &l¥led aiman

A:-Cat. | bite
#0Q0dl | @

B:-Cat. Il bite
@090dl Il &)

C:-Cat. lll bite
20Qudl Il @]

D:-Cat. IV bite

@090dl [V @<

Correct Answer:- Option-B
Question67:-When considering first aid for burns
i. Donot break blisters
ii. Apply ice over the area
iii. Apply honey/paste to the burn area
iv. Cool the burn area under running water

£a10886RIQTIM @JINAW QY alBINETIEBEMIO
i. o086 O6AHGBO
ii. @R eagmY Wewouilene
iii. ealgge0Ix ROVEDY 6®B/Galqy ajoge
iV. 8gomm eaigsolmslaicd 6aloggealg Munel @eMoaflesd
A:-only i is true
20@@06M WA
B:-only i & ii are true
i, il agemlal ao@aosm od
C:-only i & iv are true
i, IV agarlal ao@aosm’ vo@l
D:-only i, ii & iii are true
i, ii, iii agamlal ao@en wAlwoe
Correct Answer:- Option-C
Question68:-Log roll movement is the first aid procedure in
GRI0UY GOOUB alRIMBOENY (IND WERAHD MSalS@Ro
A:-Snake bite
aloml’ &Sl
B:-Burns
a8
C:-Fall from height
2O mlan’ aflgs
D:-Drowning
QEBRE3
Correct Answer:- Option-C
Question69:-For a Seizuring patient (those who have active fits). Which of the following is true?
w1 allslesigammm eooulles (ausdal adidoyssaid). oalajomaiad agmosm vdl?
A:-Give them drinking water
@RAURED BHSlOAIBS0 MTIBE
B:-Restrain them from active movements
o arimeEBgled dmlan @raee GSQSE:
C:-Put cloth or something into their mouth to prevent tongue bite
M BSEITREHI @AGeS AT DMl AGRd QS
D:-Turn the patient to one side and stay with him
6eIUTOL B QIEOME GIFEN ERAIEMIOSIaj MlwdLns
Correct Answer:- Option-D
Question70:-In case of drowning
i. Check for breathing and pulse
ii. Press the belly to remove out swallowed water immediately
iii. If the victim's pulse is absent start CPR
iv. If breathing present and conscious turn him to left side

QeEElnclEsE@Ie6MEsed
i. IO alBmMye al@lEwIWlERE:
ii. algarlo eaiss. 95 Mlo 6.21QIM AWl GRadELE:
iii. ;EQes a1 wegelad CPR @oo.dens
iv. (RIOGTVO.5110MVe (lRlnlle)eEM@:I@, BeNIOWaYBQYe ERAIOM PSD®AIEOVE TICERS:
A:-All are true
ag)gfoo WEIIE
B:-i, ii & iv are emergency procedures
i, ii, iV agarlal ersloame msalsigammsoem
C:-Only i, iii & iv are emergency procedures
i, iii, iV agarlar ao@aoem’ @edome msaisi@nsnud
D:-Only i & iii are true
i, il 2o@aosm wod
Correct Answer:- Option-C
Question71:-i. Sudden cessation of cardiac activity is cardiac arrest
ii. Decreased or complete cessation of blood flow to heart is heart attack
iii. For cardiac arrest CPR should be started at the earliest
iv. For heart attack CPR is not an emergency always

i, a0BY WARCHMOETIMEO ealesREs alleods A)BOTYEMAEM
ii.  aprROTlealtes EEMEDIS. BOQEHEWO dmMER] (RIRHEWI O aYIMEY AQEWIRIEENY
iii. aps@ay.em@iay CPR ag@m0 caitre @ocdasme
iv. apewocen@omia’ CPR ageqjoge @osiommileoaimnmey
A:-Only i & ii are true
i, Il sl eo@aosm God
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B:-Only iii & iv are true
iii, iV agamlar @o@aoeny vel
C:-Only i, ii & iii are true
i, ii, iii agamlal ao@en wAlwoe
D:-All are true
ag)gfoe WEIOE
Correct Answer:- Option-D
Question72:-Which of the following is a direct sign of brain injury?
lajomalcd ag@moem amyley su@Owlde0 t:m«ﬂ@gg @RS®Ig?
A:-Swollen and painful thigh
Aldom®e EUBMYSBDNIW DS
B:-Seizures
UbJO(ﬂ)@S(T(Xo
C:-Breathlessness
UOJO(T\)(U)S('me
D:-Decreased urine output
QOOTIBe0 @psal GO
Correct Answer:- Option-B
Question73:-Which of the following is true about hypoglycemia is a victim?
660060000 QMdleasdll flajoQMARI® ag@mosT vdl?
A:-Missed insulin dose
eoadryellad eawomy’ Mayenlg
B:-Skipped breakfast
(QJRIDEEHEMo B3FU0ES]
C:-Increased thirst
QU] Bdano
D:-Increased Urination frequency
Qdetly Qeadslenad @YD
Correct Answer:- Option-B
Question74:-Which of the following protein source has maximum bioavailability?
TlajoQaD EoglB goalsarglod agmeny aleasniul eesal AIRMQSs®?
A:-Ground nuts
mleisesel
B:-Fish
DOV
C:-Egg
s
D:-Soya
[Heavelo]
Correct Answer:- Option-C
Question75:-Which is not a fatsoluble vitamin?
030¢a] aidfleaam algodlad @pePEm®Y ag@oem?

A:-A
af)

B:-B
enfl

C:-D
awl

D:-E
j22)

Correct Answer:- Option-B
Question76:-Immunization is effective in preventing
@®l6e0W G:ovilaa] anelejeaosm

A:-Leptospirosis
agellaym

B:-Hep. C
&a0al. mil

C:-Cholera
BHIBO

D:-Varicella
andlemugy

Correct Answer:- Option-D
Question77:-Protein Energy malnutrition is known as
605l ©VALER EaldaUB:0000RER0AT ERAIWOAIFM @Y

A:-Scurvy
ayadal

B:-Marasmus
@09y’

C:-Xerophthalmia
£6TVE0ngoTBAI®

D:-Beriberi
esnidlesnicl

Correct Answer:- Option-B
Question78:-International Human Rights Day
«mnmo@omg DMaHOUBHIUD Elmo

A:-Nov. 10
matend 10

B:-Dec. 10
awlruosnid 10

C:-Oct. 10
a6gomid 10

D:-July 10
meeal 10

Correct Answer:- Option-B
Question79:-How is BMI calculated?
agsamem@oemy BMI e:ememogsane?

A= (Wt (kg))/(HE (m)~(2))°
(Wt (kg))/(Ht (M)~ (2))
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B:-" (Wt (g))/(Ht (cm)~(2))
(Wt (g))/(Ht (cm)~(2))°
C:-* (Wt (g))/(Ht (m)"~(2))°
“(Wt (9))/(HE (M)~ (2))°
D:-" (Wt (kg))/(Ht (cm)~(2))
(Wt (kg))/(Ht (cm)~(2))°
Correct Answer:- Option-A
Question80:-A person attempted poisoning by drinking Kerosene. Which of the following should not be done?
630003 26ERER ®:Slaf allate &I Eoely. ©OLOYMATIB GG 621900 a0Slopom®?
A:-Inform the police
catoellmilom @rdloless
B:-Shift the victim to hospital immediately
DEOW OSM @RWaITOlealEs 209&
C:-main toxicity is due to inhalation during ingestion
@WIM Qlla¥detoo BYlEBEMIUd vIMIlaRmM@oE
D:-Induce Vomiting
anAG DENROBBH
Correct Answer:- Option-D
Question81:-Recently introduced vaccine in National Immunization Schedule to prevent serious pneumonia is
DBOEDIW m&zmamﬂ@ @sQM@MIO] 3wl @EleEdw G:ovlaiiaf ensam)égﬁmﬁ @RgOBes @RAOEIla) oglmd
A:-Streptococcal Vaccine
©TYaTEQIeEI®@S Qo
B:-Pneumococcal Vaccine
mécmoccs:omwa gl
C:-Meningococcal Vaccine
62Mlo6(IEHILH QOB
D:-Varicella Vaccine
adleaugy aglmd
Correct Answer:- Option-B
Question82:-For Nipah Virus infection
i. Direct bat to human transmission occurs through fruits contaminated by bats secretion
ii. In India pigs are identified as intermediate host
iii. In 2018, except 1st case all other transmissions were from human to human

Mol HOQIRMY @REMOENIOWEY
i, agpeegcd dlo amauEleals emES ald@GmMoY QOYPEJHEOS VAITHOTS 2alMma0W alemBglgns@os
ii. @l amleeg Lodfuleg canoqyowl Gildlsclame
iii. 2018-@3, @RE, eoOMIFO® 1OQRI @JESHUIEME@RG. AMUMIE o amamlsaiss @RWIGBM
A:-Only i & ii are true
i, il mo@aoen’ vodl
B:-Only i & iii are true
i, iii @o@aoemy vedl
C:-Only ii &iii are true
D:-All are true
ag)gfoe WEIOE
Correct Answer:- Option-B
Question83:-80% of health care waste is
@REEIWY Musesuem asalmyomldeo 80% aremy
A:-General health care waste
0ald® @RYBEBIWY TVeEEHEM M0RlMEERUB
B:-Chemical waste
@omv @oeflmyeEBRud
C:-Biohazard waste
6NIEGIa0IMVIBALY @oellmye
D:-Pathological waste
aloecomoglen®d moalmy
Correct Answer:- Option-A
Question84:-The most effective and cheapest method of disinfecting wells
S8 @REMAIYEMRIBMTIRES agQQle n0Lle)Eq Alleis:0ammaw @l
A:-Chlorine tablets
600l O&lee 3
B:-Chlorine gas
GHOCIMB QUG Eo
C:-Ozone
6060V06Nd
D:-Bleaching powder
63flafloty arocwd
Correct Answer:- Option-D
Question85:-Signs & symptoms of skull fracture
©eeog] aslallBec ERSWosmBEEe LIOHEMEERE.
A:-Bleeding from scalp
©e1egll@d Mo ESmEYIe
B:-Bleeding from ear
a0l mlar’ eemE@YIe
C:-Black eye
B BT
D:-All of the above
ABHEI alOFDAUOWEII0
Correct Answer:- Option-D
Question86:-Immunization is effective in preventing
QOEEIW GO aoel)Eaem’
A:-Polio
Galoglleo
B:-Cholera
68080
C:-Plague
Gouy
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D:-All of the above
QBHEI®W AlOFODAOWEIe
Correct Answer:- Option-A
Question87:-Colour code for the plastic bag in which cotton swabs are deposited
Al@BOD ©OBERIMYB WS Mlessialenmm qomils; mUlBe0 &Ed e’
A:-Red
2JQla]
B:-Yellow
D610
C:-White
[oleY>1x)
D:-Blue
el
Correct Answer:- Option-B
Question88:-Primary bacterial indicator for water contamination
meeldleesmomilegs @oudle mIlEle myalde
A:-Coliform organism
€H081En000 BIBWIMITVo
B:-Faecel Streptococci
£a00V@ OTYalEgIeHIES
C:-Chlostrium perfringens
6MJl@o OalBaglonadmy
D:-Vibrio Cholerae
allenflewo eso80
Correct Answer:- Option-A
Question89:-Body mass index is
GenIocusl @0y ey’ @6y’
A:-Quetlet index
slogaig myalle
B:-Age independent
IO @JOWo
C:-Sex independent
STV MVIGED
D:-All of the above
ABHEI alOFDAUOWEII0
Correct Answer:- Option-D
Question90:-SMILE is
SMILE @6y
A:-An initiative to ensure first aid in RTA
RTA- @@ @loa@ @0 £0ojoemM@lmes 6@ Moo
B:-An initiative to support Cancer Patients
B0MBMB cEIUIBe8 olmmEmMainss 6@ Msedes
C:-An initiative to help transgender & beggers
SOMMIBBBWABRIOOQo QOAIBERQe MaNIVEBMTIMSS B TVoBoRo
D:-Initiate to build homes for poor
BRlgAs allgeud Mdailenom @RE.Elesde
Correct Answer:- Option-C
Question91:-NTEP is a National programme for the surveillance of which disease
NTEP ago ceonomimen mldlessmoniess ¢3udle al@lansiosm?
A:-Leprosy
\ﬁm*c(do(l)o
B:-AIDS
ag@owmy’
C:-TB
sl.endl
D:-Tetanus
©sgMMY’
Correct Answer:- Option-C
Question92:-Maximum permissible dose of radiation from man made source per year is
amay Mldedlo cayoomled Mlares EemABMIEID aleecaIWw] GoMUleaym

A:-2 rad

Correct Answer:- Option-B
Question93:-Features of arterial bleeding
WamleEea! EEMEVIAIETIMEO MUAIEURAHmBUD

A:-Steady flow
qudlenow egses

B:-Dark red in colour
®Fo gjla] afloo

C:-Spurts at each contraction
630600 MUEH0IOTI)e B:MEBMD

D:-All of the above
BHEI®W A0SV

Correct Answer:- Option-C
Question94:-Hridayam Scheme is for
0B@o alEL® HTPSB®IEM

A:-To support children with congenital heart disease
@RAN® aQERINPBS HSHOS TVaNIWEHOM

B:-To support children with HIV infection
ag)al 6ag) ol @REMENDWQRESS H:5le:e8 allaemngom

C:-To rehabilitate the drug addictors
2@ &GN ERSIR&SIVWAOE ajmeUWAIMlafeae:
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D:-Suicide prevention & rehabilitation
@ROROMY BSWEJ aJMEUIQUIMIYo

Correct Answer:- Option-A
Question95:-What is meant by KASP?
agamoemy KASP es06 9egudlesmor?

A:-Is a health care scheme
B @YERINY MVESHEM alRLTIETY

B:-Is a palliative care scheme
@3 TLOATIM Al@lalE6M alRLDIWIE

C:-Is a Non communicable disease scheme
MVIGACHMO IV AlRLMIWET

D:-Sanitation Protection scheme
@l MVoEBHUEM alBRLO

Correct Answer:- Option-A
Question96:-Hang man's fracture is related to
gscrs’lmrclrg@ogas &<lal @20 IMWe|s@IETY

A:-Rib fracture
andlewe] aslal

B:-Facial bone fracture
geuem @MVl aslal

C:-Skull fracture
oeiewogl aslar

D:-Spine fracture
meggl eslar

Correct Answer:- Option-D
Question97:-Abrasion Collar is seen in
@REYHB 083 T HEMOIG

A:-Knife injury
SO golal

B:-Following fall
osdmgs allg

C:-Bullet wound
syssq’ gdlal

D:-Electric shock wound
aIRls; e galal

Correct Answer:- Option-C
Question98:-Partial cooking of paddy in steam is known as
ome] Uil @Rl alnde £21Q)MOY ag)MOl@ajgme

A:-Steaming
@palol@ canlens

B:-Polishing
Calogladlovy

C:-Parboiling
alodesnoaefleuy

D:-Frying
QIQEBH

Correct Answer:- Option-C
Question99:-Horrock apparatus measures
£a0E0IEH DaldHEEMOIMEO @RS

A:-Combined Chlorine
MoIHl® Goclm

B:-Free Chlorine
@ egodlad

C:-Chlorine demand
6oCImB @RI

D:-Dose of bleaching powder
6Qflafloty arocwdlm@eo @raal

Correct Answer:- Option-D
Question100:-POCSO Full form
POCSO ojdey @alo

A:-Protection of Children from Sexual offences

RRITG e} flod oo’ @gleges useememe
B:-Prevention of Children from Sexual offences
66R1UTE &:Q @ sl gl @3

C:-Public offences against children including sexual offences
6621UIlE HQHOKTIBU OUBOOS HF|BHUBODTNIEIW HalID HQHOIETRUY
D:-None of the above
BHE®W Al0FOMAIOWITRAG)
Correct Answer:- Option-A
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